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1.Comprehension .
Read the following passage then answer the questions

COLORADO, USA—A man walked into a corner store in Colorado Springs with a gun and
demanded all of the cash from the cash register. After the cashier had put the cash in a bag, the
robber saw a pack of cigarettes that he wanted behind the counter on the shelf. He told the cashier
to put it in the bag along with the cash. The cashier refused, saying that the man wasn’t over
twenty-one. The robber insisted that he was in fact older than twenty-one, but the cashier stood his
ground and refused to give it to him unless he showed official identification stating his age. The
robber took his driver’s license out of his wallet and gave it to the cashier. After a couple of
minutes, the clerk agreed that the man was indeed over twenty-one and put the pack of cigarettes in
he bag. As the robber ran from the store, the cashier immediately called the police and gave the
ame and address he had seen on the license. The police arrested the robber two hours later while
e was sitting in his living room smoking a cigarette.

Answer the following guestions:

. Where did the story happen?

. What did the man demand from the cash register?

. Why did the cashier refuse to give him cigarettes?

. Where did the police arrest the robber?

Put(N)or (X):

. The robber entered the store with a gun.  ( )

. The robber’s intention was only to steal cigarettes. ( )

. The cashier refused to give him the cigarettes because he looks under twenty-one. (
. The robber proved to the cashier that he is over twenty-one by his ID. ( )
Complete:

The police arrested the robber

0. The clerk put the pack of cigarettes in the

D) Choose the correct answer :

1. The robbery was in (France — America — Australia)

2. The robber was (smart — intelligent — stupid)
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